

Penthouse in San Gwann



San Gwann, Sliema and St Julians Surroundings



€478,000

Reference No: 240061191-64

 Total Rooms: **5**

 Floor Area (m²) : **120**

 Bathrooms: **2**

 Bedrooms: **2**

Penthouse - For Sale - San Gwann

SAN GWANN – PENTHOUSE – Newly built located in the heart of town close to all amenities and served with Lift. It consists of a Open Plan (Kitchen/ Living/ Dining) complemented by a front terrace, main Bedroom with en-suite with a Balcony offering distant views, main Bathroom and another Double Bedroom. This property is being offered Freehold and Finished excluding Bathrooms & Doors, contact your preferred agent for immediate viewing or more info!

Features

- ✓ Lift
- ✓ Water Utility
- ✓ Skirting
- ✓ Balcony
- ✓ En Suite
- ✓ Gypsum Plastering
- ✓ Terrace

Rooms

- ✓ Kitchen/Living/Dining : 4.1 x 11.4 m (46.74 m²)
- ✓ Double Bedroom : 3.71 x 5.1 m (18.92 m²)
- ✓ Double Bedroom : 3.4 x 3.9 m (13.26 m²)
- ✓ Hallway : 1.12 x 6.97 m (7.81 m²)
- ✓ Bathroom : 2.64 x 1.79 m (4.73 m²)
- ✓ Bathroom Ensuite : 1.82 x 2.76 m (5.02 m²)
- ✓ Open Space : 1.5 x 6.9 m (10.35 m²)
- ✓ Open Space : 3.1 x 4.1 m (12.71 m²)

Gallery





Jayden Lautier

RE/MAX Superior - Fgura

M: 77775176

E: jayden@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura

368, Zabbar Road, Fgura, Malta